Lo 2917 2nt ant '3 N HITH(39'A)
il

5

_ (a=5)+(b=5)+(c=5)+(d—5)" _ 2?4: 48

5

a = — a= —

g Hs A E o 3 | Hs o v A
1 5 3 9 3 4.5
2 4 4 10 4 3
3 1 3 11 3,5 3.5
4 4 4 12 3 5.5
5 5 3.5 13 1 5.5
§) 2 4.5 14 1 3
7 2 4 15 5 4.5
8 3 4.5

T 4 @ e
MEE1 3 4
AEH2 Lr=24", Ly=56 6
AE33 36 5
AEd4 30(%) 5
OA =rola} st ngr CAM =6
AOAME AZP47Hgolo g, mefuets A2l ALgsia,
P = (G4 r> 00082 r=4/3
) do] S 2x4/3 x 7 = 8/3 0],
= 50] ol AZ7t] F7)9 Hujstaz 10
@:8\/§7r><1—32:2\/§7r
o 4._8
AB =837 x 2= 3 V3r
Tl 5 _ 10
BC—8\/§7TX12— 5 V3
®2F q,b,c,d9 WAo] 50|82, g+ b+ ct+d=20
5710] WgF q44,b+4,c+4,d+4,9 9 HFe
(a+4)+(B+4)+(c+4)+(d+4)+9
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(a—5)2+b—5)>2+(c—5)*+(d—5)* =24
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(a+4—92+(b+4—9)2+(c+4—9)*+(d+4—9)>+(9—9)2




